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QUESTION 1

Which two capabilities can an administrator use to ensure availability within Docker Containers? (Select two.)
A. provide HA to the application within the container for failover and app restart

B. provide provisioning of a new container when an application within the container fails

C. first restart the application within the container and if continued app failures then provision a new container
D. provide HA to the container and move it between cluster nodes

E. provide provisioning of a new container when a container fails

Correct Answer: AD

QUESTION 2

Refer to the exhibit.

In a three node cluster, the orasg service group is online on one of the systems. The service group has the resources
and resource dependencies shown in the exhibit. All resources are critical resources and the following service group
attributes have been configured:

ManageFaults = ALL FaultPropagation = 0 AutoFailOver = 1

What is the expected behavior when the mnt2 resource fails?
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A. The service group fails over to one of the other systems in the cluster.

B. The service group is taken offline and remains offline in the cluster.

C. The mnt2 resource is taken offline, all other resources remain online.

D. The mnt2 resource and all its parent resources are taken offline, the rest remain online.

Correct Answer: A

QUESTION 3

Refer to the configuration.
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group websg (

SystemlList = { sysl = 1, sysZ = 2 }
AutoStartlList = { sysl }

Frozen = 1

}

What will happen to the websg service group if the websg is online when all the systems in the cluster are rebooted
simultaneously, then all the systems finish booting and successfully join the cluster?

A. it will unfreeze on reboot and start on sysl

B. it will remain offline on all systems

C. it will return to the state it was in prior to the reboot
D. it will start on sysl in a frozen state

Correct Answer: A

QUESTION 4

Which two requirements must be meet to allow an administrator to configure LLT heartbeats over UDP? (Select two.)
A. the LLT private links must be on the same subnet

B. each NIC must have an IP address configured before configuring LLT

C. the maximum transmission unit (MTU) must be set to the lowest value supported by the NICs

D. each link must have a unique UDP port

E. broadcast must be enabled for the heartbeat subnet

Correct Answer: BD

QUESTION 5

Which requirement must be met to allow two separate Veritas InfoScale clusters to share a common private heartbeat
network switch?

A. The GAB network IDs must be unique across the clusters.
B. All node IDs must be unique across the clusters.

C. The cluster IDs must be unique across the clusters.

D. All LLT node IDs must be unique across the clusters.

Correct Answer: D
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